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1. Complete these calculations

oK K
H9-3=... i) 6-5= ...
2. Complete these calculations
(i) 7-5=.. vV v vVvV/<V YV
X X X X X
(ii) 8- 2 = ... vV v v VIV VY

3. Complete this calculation.

You may use either diagram to help you.

() 7-4=.. Vv vvVyvvy

4. Complete this calculation 6-4 = ...

5. Complete the calculation 70-30 = .............

You must show your workings out.

T o
70 70
30 - 30
30 70
6. Complete the calculation 90 - 50 = ......
7. Complete the calculation 63 -40 = .............
You must show your workings out.
T O
63 60 3
40 - 40
40 ] 63

8. Complete the calculation 58 -30 = ......
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9. Complete the calculation 59 -27 = .............

You must show your workings out.

T O
59 50 9
27 - 20 7
27 .9 59
10. Complete the calculation 79 -26 = ..........
11. Complete the calculation 73 -28 = .............
You must show your workings out.
T O
73 70
28 - 10
T 20 8
28 3 73
12. Complete the calculation 92-58 = ...........
13. Complete the calculation 57 -4 = .............
You must show your workings out.
T O
57 50 7
4 -
4 7 57

14. Complete the calculation 29-5 = .............
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